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1.
Draw the search tree that is generated by a breadth-first search in an attempt to solve the eight-puzzle from the following start state without using the assistance of any heuristic information.
	
	1
	3

	4
	2
	5

	7
	8
	6


Ans：
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2. 
What heuristic do you use when searching for a route between two cities on a large road map?
ANS：One normally follows the road leading in the direction of the destination.
3. 
Which of the following problems are in the class P?
a.
A problem with complexity n2 

b.
A problem with complexity 3n 

c.
A problem with complexity n2 + 2n 

d.
A problem with complexity n!
ANS：
a、b and c. 
4. 
The following algorithm for sorting a list is called the bubble sort. How many comparisons between list entries does the bubble sort require when applied to a list of n entries?
procedure Bubb1eSort (List) 

Counter ← 1; 

while (Counter < number of entries in List) do 

[N ← the number of entries in List; 
While (N > l) do 

(if (the Nth List entry is less than the entry preceding it) 
then (interchange the Nth entry with the preceding entry); 
N ← N – 1
)
]

ANS：
(n - 1) + (n - 2) + ... + 1
or

infinity
5. 
Use RSA public-key encryption to encrypt the message 110 using the public keys n = 91 and e = 5.
ANS：
The message 110 is the binary representation for 6.
65 = 7776 and 7776 (mod 91) = 41, which in binary notation is 101001. Thus, the encrypted version of the message is 101001.

6. 
Use RSA public-key encryption to decrypt the message 111 using the private keys n = 133 and d = 5.
ANS：

The message 111 is the binary representation for 7.
75 = 16807 and 16807 (mod 133) = 49, which in binary notation is 110001. Thus, the encrypted version of the message is 110001.
